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T O KB R E A, O KB R M O R B 2 M X 2 O 3 97 RO (7], 5%
FIREHFE ;O3 EI FriRiL K%

Bt
1. W Id like to buy a new dress.

M:The womens department is on the second floor, madam.
Q:Where does this conversation probably take place?
I : A. On the second floor. B. At a man$ store.
C. In the woman$ depariment.  D. In a department store.
FRB A EAEEI R, AXEP BT PR 415 :the second floor F1 the womans department, MR
AT LAY 3 BB SRR AR , 58 B9 U8 S B R 8 IR B AR, IO D W vl RETE B K
2. M:Excuse me, does the express train leave at 2:057
W:No. At 1:55. You must hurry. There are 5 minutes left.
Q: What time is it now?
I A 1.:50. B.1:.55. C.2:00. D.2:05
AR A EE BN, AN =R E] TR :2:05,1:55 B9 5 minutes. PS5 A LADT H4 5B f fe) B % 2
BR2:05 pFFed, M RIEBFR 1.55 7, ERER/M T . RBARBAR 150 47,
(2) AW XMBREN HFAPEAEN R, ERNER B LV E, FENENE, T HERE
SRR BT B A A HITHE B SHE PR A R
Bian .
M :The city is going to pull down those old houses and put up a new shopping center.
W : Another shopping center? That’ nothing new |
Q:What does the woman mean?
PET : A. New shopping centers are very common.
B. The shopping center is very old.
C. The city needs more shopping centers.
D. The old house should be turned into stores.
TEATES Y B M REIEIH B TR P G, L RN R R ) B L
AT M+ EERET X B AR BRI, FL T D 5 8 b o KRR T, B A,
2. MAAE
&4 — g B AT PO 3 W H B DU 38 9% 301 S RO 4538 R PT RE 25 IO NS, A R L A R T
B T A, SRR AT LA KR 47 5 i ﬁt‘:l’)?’%ﬁ)%ﬁ 40 . F WIEIR A. Teacher B. Student C. Writer D. Editor {8 B] Fijll
XBREWHE P FE— AR ; B Wik A. Librarian and reader B. Professor and student C. Doctor and patient D.
Secretary and boss {8 8] %1 L AH 2% %HE X 5 #5453 ;B RIETR A. In a shop. B. In a school. C. In a hotel. D. In a restau-
rant. B 0] FX BRI EHH A ;B %L A, Surprised. B, Glad. C. Disappointed. D. Angry. { A] Fiil) A< 8 % 33 15
MR — (S R, AR AR
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ERBEELEE A CENR OB ERTEERITE, FERGHER RS R 7, B A TR
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HERHREES .

This passage mainly deals with

This passage is mainly about

The best title for this passage is

What does this passage mainly discuss?*

2) 3 H 7

AMERAKERLERERTHREECENRSEE . TERE AR CEN RS A% %,
BN S B AATHED, B IEDR A B TR IR A BB AL 1 , SR RO T 57 J 8 8 A BB 5 40 i P L
A, BT LT SRR T s, SRS M0 BR ) T RIBAEAT R A4 A, MR B A O

AT |

This passage implies that

_It can be inferred from the p that

el

The author suggests that

N



What§ the authors attitudes towards ____ 7
3 REA
CRXMEERELAERTNEEAEEXENGEE, ERY RN X EF EHER, O E XERTHEE,
A R I SR — S B ARG BRI, SIEERNE R A EEE, IR E R 4%
15 B BT R R RS H 2

HENEAEESR:

All of the following statements is true except

Which of the following is true?

Which of the following is NOT true?

4)m¥ A

HHEFEREEEEFRIE L EERXEATMELNEN, EEEARTIFESNH T M8 EHE
& BexAE LAY E, M. ERHEERAE BRI, R4 S5k, B E R B R M A
Ao

5) % A& ]

B UBE RS EMACAES, RERA R I RAHEE X LT B ERA R MELANL, B
BT, SR R R S AR, (BB A TR T AR 3 X RERS 7 PRR i
R R B R B B A AN AR 2 TEF M, R REL RN R,

WA A

The word/phrase “..." most probably means

The word/ phrase “..."” can be replaced by

=. L BT =TREM
1 BRAC B SRR |
TANE Y MR A IR /AR SRR, T 3k R SRR B 2 A TR A O
1) BRI PTE
XTI R A AT b B ) SR SRR A B, IO R R % A v R BUE SUR R R R IR, 4t
of 1 FEAE ) B SR R R RGE SRR 2 I L ) BRSO R R TR A0 X — 5 4, S R
R SR, A IR AR AR A X B R R P9 0, B A 7 X AR A5 R T E 4
Bl

The manager one of the hotel servants of stealing the money.

A. complained B. charged C. accused D. scolded ‘
KRN RE R S/ SR LA RE . O TRA CRE L EHL BT SRR SR RERFEIM
5, AR PO Ay AT e, X A, 5 Ak B S MR U B 1A A 5 I8E L : complain to sb. about (of) sth. jcharge sb. with
(doing) sth. ;accuse sb. of (doing) sth. 3scold sb. for (doing) sth, JXEE— A [ EABBE C T o
2) Rk iR SR
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R T BB R A T T B DR R o SR R R A R AT e 7 € ok Sk e P 12 5T
FERX IR AR Lo 4 FEDTR AR )R SO R0 b — MR S S R85 O ) ok s i A
BRE-MRNMEERNGE L. —BHeaRX5, flw

It is of you to take his advice.

A. sensitive B. sensible C. sensational D. sentimental

XA — BT A A SO, HE BRI AR B B R IR E R T csensitive B h UK, sensi-
ble B9 B 1), BEBAAY ", sensational B4 KB s sentimental B “ ZRAHERIN” o KR MRUT Ml 39 5825 413 ;
BHo ~ ;
3) BB B EE

ERBEREEL AN RIEPRBFENSHEIER(NSREIE AREE EAREE A eiEe) niee
BE. JHANE MIERRIEET TR~ PR, 2R RE R T EIR T AR, R T e 4 0 %48 5 3%, A A4 T
REAEE X R B A S Bl

If the evidence _____ the charge,the man will be convicted.
A. bears off B. bears out C. bears up D. bears down

RFE—A SRR, A A E R S EAE 618 S R R B X, bear off BN A (K%,
bear out T N IESE,EW ", bear up BH" X" sbear down FH KM, HIR". MARRE, BEEMERL B,
2. MTRNER

HOATLRE, SEREE &, AR 2 T& G M, EMRE A C AR BN E a5 8, K5 B %,
— LR, AR B E‘E‘fiﬂﬂﬂﬂ%{$ JBA I ETEA PREERT, ‘
3. xAFMAET .

o, A E R RATE B E R AL, TR E IR BT IR & R b 5 B0, t0i8 B B 5 ) &
T ZEMERERS '
[RERG eI B

. TSR R iz S FRVER 5 9 0 Bl B 4 3, W B A KB T

2. g B 10 MR RMPTETT, BA TR HIGE RS R AL AR

3. ﬁu%ﬁﬁéﬁ&*ﬁﬁ%&ﬁiﬁ%é’%ﬁﬁiﬁ]m%ﬁﬁﬁﬁt?ﬂﬁﬂiﬁ?ﬂ“k@ﬁiﬁi?%:\Eﬁ,’ﬁﬁigééﬁﬂ%%iﬁﬁ
Br s E!%E&,ﬁﬁ#%i,ﬁﬂ\fﬁ%ﬁﬂﬁ‘iﬁ%ﬂ%t%,MJ:TIH‘B&%’E&‘tﬂiifia‘é%ﬂi&ﬁﬁ%%ﬂ@ﬁﬁﬁ&i’fé
HYBHEIR o

4 —RORUL, — (AR MERI SRR . A 05 ) = R 2R D007 12 R ARG JRCSC AR 0 2, 24 14 60% ~70% , 1L %2
FRFSCH AN R, 24005 30% ~40% ; N ZFbEE IR BT o LUBIRAE BRI N 7 ~8 4,1 b R S8 48R
2~37%,
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B3, B A MR . B A ke, AN B B R B RS,
AEREE EAEIEREN, FERMT,
4. FiA)T RIS RS O FUR BB B TR EHR, IS B S , AFR B R ) FE RS,

I RENEHEBRER

L —BER TR HZEERNE —DENRE —ERRTER ., XX MER, B4 MR E AR —
h—-RMFHAMIT, REMELEX, KBLXHAEMEE,

2. PR X T A AERTE XEGE /B B3, 5 2 48 BT 7E 89 B F SO 40 B, B0 o) A o 3t
HER, '

3. RAEBEXNENSHRERELET . WRETHHE - SHTUHER—-BCMABERHE /NS URX AT
o

4. 3T FHELUB E A RO, BRE LT OES, B RAEEMALAR, R R UREBRE. X TR SGIAME
SCRBEIR , FEFE 55 S8 B L T SCRAESE T RRHI B 2L R SGA TG SRR

5. B AMAMENEHERFALERERES N REERETGE M AR HER.

B (TN ) X RIS

1. AR
N T RER RIS R R AT AR, EI R PR UL 2 5 B T A 2R A R 9 | T X A
TixF0 BT SRR , A R R T REZEALE RS B R AT, A i UL, R A R A PR BOR s v )
R, )
411 The harder you work, (BBHSE SR K)
BIR, B E R the more - the more - f/A]% , 2% i % the greater progress you will make.
2 BRI
(DHe was thin and hagged and (B EE—ATTEH)
BEA] N R 3R B, 3 4818 he , B R he looked miserable.
OB EAREHI BT
AR R RN, G TETB A M X — E'Jﬂﬁ!?ﬁ E#H poured out M AT & X —FE

@aAs he sat down and began talking, words

3. ER¥%iF
(DThe first bombs ____ . (BEHHEIR)
Wt RN, BB, RATAT A E 3k, FIE RS, 7 missed the target.
@AH the articles are ___ ( %]};M?ﬁ;) in the museum.
T A B LA Rt S e, 5 L5 R 1] wntouchable W T 243 .
4 EUSE
OHe ____ (W ABMTIHE)

DUBR—4] , L4 AP a) RN (£, %4 was very clean. His mind was open.
@They seemed proud of their economic achievements. (iX & F1EHE M)
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BRNARARENER, ERBEDII AT,

(M. BEMAEMR |

LEPEE, 5HTHY

BLEREEEEN B, MG EER, EEG-RBEBE NIk, WAl U RR

2.8 XCHEML R E &

FEWE T TEASRAZN B4 H R ER B, B FE M2 EH L5 — &R0 £
ENTREER, BB -— A&, X, B 2B BTG —B AR LUE T 5 RSB,

OWi 1A

and, what is more, furthermore,moreover, likewise , more than that,in addition, besides ,for example

@#iTR

though, however, but, nevertheless, otherwise, yet, despite, in spite of, on the other hand, on the contrary

WS

first, second, third, finally, after, before, next,last, then, and so on

@HEFRIA

because, because of, on account of, what with, therefore, as a result, for this reason, thus, consequently

6%, £ 35

to sum up, in short, in brief, in a word, so, finally, accordingly, in conclusion, thus, generally speaking
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- m Listening Comprehension (20 minutes) !
V) _Section A

Directions ; In this section, you will hear 10 short conversations. At the end of each conversation ,a question will be asked a-

bout what was said. Both the conversation and the questwns will be spoken only once. After each question there
will be a pause. Dunng the pause, you must read the four choices marked A) ,B) ,C) and D), and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

Example : You will hear:

You will read:

A) 2 hours. B) 3 hours. C) 4 hours. D) 5 hours.
From the conversation, we know that the two were talking about some work they will start at 9 o’ clock in the mornin
fand have to finish at2 in the afternoon. Therefore, D) “5 hours” is the correct answer. You should choose [ D] on th

(Answer Sheet and mark it with a single line through the center.

{ : Sample Answer
1. A) In an office. B) In a hotel. C) At a dinner table. D) At the man’s house.
2.A) At 1:00. B) After 1:15. " C) After 12:15. D) Before 12:00.
3.A) $ 1 million. B) $ X4 million. c) $ % million. D) $2 million.
4. A) He is hostile. B) He is indifferent. C) He is snobbish. D) He is helpful.
5. A) House painter. B) Salesman. C) Mailman. D) Milkman.
6. A) Father and daughter. B) Mother and son. C) Teacher and pupil. D) Doctor and patient.
7. A) It is too noisy. B) She enjoys speaking loudly.
C) She is very angry. D) She is deaf.
8. A) The woman is making a withdrawal from a bank. ~B) The woman is admitting the man to a hospital.
C) The woman is robbing the man. D) The woman is ordering the man to stop.
9. A) He doesn’t need the job. B) He has a good job.
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C) He hasn’t got a job yet. D) He is going to start work soon.
10. A) Get medical help immediately. B) Go to class at once.

C) Take some medicine right away. D) Go to see a doctor soon.

m Section B

Directions:: In this section you will hear 3 short passages. At the end of each passage, you will hear spme questions. Both the
passage and the questions will be spoken only once. After you hear a question, you must choose the (best answer
Sfrom the four choices marked A) ,B) ,C) and D). Then mark the corresponding letter on the Answer Sheet with a

single line through the centre.

_Passage One

Quostlous 11 tp 13 are based on the passage you have just heard.

11. A) Thére is an office furniture show. B) There is a painting exhibition.
C) There is a modern art contest. D) There is an off — season sale.
12. A) Quife impressive. B) Rather meaningless.
‘C)bAbsolutely childish. D) Extremely funny.
13. A) His painting is a mess. B) His painting does not belong to art.
C) He feels terrible while painting his picture. D) George’ s mother has made the same comment.

"Passage Two

Questions 14 to 16 are based on the following passage you have just heard S
14. A) A significant earthquake occurs in the United States. o
B) A significant earthquake occurs in the ocean.
C) A significant earthquake does not kill anybody.
D) A significant earthquake usually measures over 6.5 on the Richter scale.
15. A) 75 quakes. B) 64 quakes. C) 119 quakes. D) 70 quakes.
16. A) Off the Big Island. = B) Near Challis. C) In Coalinga. D) Off the southern coast.

Questions 17 to 20 are.based on the following passage you have just heard:
17. A) Going to college in the past was more stressful than it is today.

B) Going to college in the past was less stressful than it is today.

C) Going to college in the past was as stressful as it is today.

D) Going to cgllege was not stressful in the past, neither is it today.

18. A) She wants to earn more money. B) She has to pay for her college education.
C) She feels lonely sometimes. D) She needs more experience.
19. A) Headache. B) Fear. C) Depression. - D) Homesickness.

20. A) Fifty percent higher than that of the non-students of the same age.
B) One - quarter of that of the non-students of the same age.
C) Half million.
D) Less than that in the past.

m Reading Comprehension ° (35 minutes)

Directions; There are four passages in this part. Each passage is followed by some questions or unfinished statements. For
each of them there are four choices marked A) ,B) ,C) and D). You should decide on the best choice and mark

the corresponding letter on the Answer Sheet with a single line through the centre.
.14 -
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Questions 21 to 25 are based on the following passage:

The United States court system, as part of the federal system of government ,is characterized by dual hierarchies. There
are both state and federal courts. Each state has its own system of courts, composed of civil and criminal trial courts, some-
times intermediate courts of appeal, and a state supréme court. The federal court system consists of a series of trial courts
- (called district courts) serving relatively small geographic regions, (is at least one for every state) ,a circuit court of ap-
peals that hears appeals from many district courts in a particular geographic region, and the Su'preme Court of the United
States. The two court systems are to some extent overlapping, in that certain kinds of disputes ( such as a claim that a state
law is in violation of the Constitution) may be initiated in either system. They are also to some extent hierarchical, for the
federal system stands above the state system in that litigants ( persons engaged in lawsuits) who lose their cases in the state
supreme court may appeal their cases to the Supreme Court of the United States.

Thus, the typical court case begins in a trial court — a court of general jurisdiction — in the state or federal system,
Most cases go no further than the trial court. For example, the criminal defendant is convicted (by a trial or a guilty plea)
and sentenced by the court and the case ends; the personal injury suit results in a judgement by a trial court (or an out-of-
court settlement by the parties while the court suit is pending) and the parties leave the court system. But sometimes the
losing party at the trial court cares enough about the cause that the matter does not end there. In these cases, the “loser”
at the trial court may appeal to the next higher court.

21. What does the passage mainly discuss?
A) Civil and criminal trial courts. B) Typical court cases.
C) The court system in the United States. D) The appeal court process.
22: According to the passage, district courts are also known as
A) circuit courts B) supreme courts C) intermediate courts D) trial courts
23. The passage indicates that litigants who lose their cases in the state trial court may take them to a
A) different trial court in the eame state
B) court in a different geographic region
C) federal trial court
D) state supreme court - )
24. Tt can be inferred from the passage that typical court cases are .
A) always appealed ‘ B) usually solved in the district courts

C) always overlapping D) usually settled by the Supreme Court
25. Which of the following is most likely to be the subject of the paragraph following this passage?

A) The process of an appeal. B) Out-of-court settlements.

C) The state court structure. D) Sentencing procedures.

Questions 26 to 30 are based on the following passage .

From Dr. R. S. Scorer of Britain’ s Imperi‘al College of Science comes the latest theory about the cause of lightning fla-
shes. Dr. Scorer believes the cause is hail falling through supercooled clouds. Ice particles bouncing off the falling hail ac-
quired a positive charge and rise to the top of the cloud while the hail carries a negative charge to the bottom of the cloud.

- According to-Dr. Scorer, Benjamin Franklin first proved thunder-clouds are charged with electricity. Later investiga-
tion-showed that the tops of the clouds have a great positive charge and the bottoms a great negative charge. '

When the charges become great enough to break down the insulating properties of the air, lightning flashes carry the e-
lectricity within the cloud, or from cloud to cloud,or from cloud to earth. But the question remained ; how do the charges de-
velop within the cloud?

To seek the cause, Dr. Scorer and his colleagues at the college first duplicated thundercloud currents in a liquid tank.

They found that mixture takes place only at the tops of the clouds.
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Next a study of thunderclouds over the North Atlantic showed that lightning occurs only when the air temperature a-
rounid the cloud is below freezing. Particles at the top of the cloud begin to freeze but those in the remainder of the cloud
stay unfrozen although below freezing temf)erature.

To measure moisture the scientists sent planes equipped with. external refrigerated rods into the clouds. The idea was
that moisture would freeze on the rods and could later be measured. The men found , however,that some of the moisture par-
ticles bounced off the rods. His aecidental discovery set the scientists on a new course of action.

In the laboratory; S. E. Reynolds whirled a refrigerated rod through ice particles and found that the particles which

bounced off the rod acquired a positive charge. This was the missing link. Without hail and supercooled clouds, he conclu- I
ded, there could be no lightning. : l
26. This passage is about a .
A) law B) hypothesis C) guess D) theory
27. According to Dr. Scorer, lightning is caused by
A) rain falling through clouds :B) hail falling through supercooled clouds
*. G) hail falling through superheated clouds D) ice particles falling through any clouds

28. According to the passage, Benjamin Franklin was the first to prove that
A) lightning is caused by hail through supercooled clouds
B) thunderclouds are not charged with electricity
C) thunderclouds are charged with electricity
D) lightning was not an invention of the devil

29. A study of thunderclouds over the North Atlantic showed that lightning occurred only when the air temperature

A) around the cloud was below freezing

B) around the cloud was above, freezing

C) about the cloud was lower than the temperature below the cloud

D) of the cloud was above freezing
30. Ice particles bouncing off hail falling through a gloud acquire .

A) a negative charge B) no electric charge at all C)a positive charge D) Both A and C -
Questions 31 to 35 are based on the following passage:

In 1781 twelve families trooped north from Mexico to California. On a stream along the desert’ s edge, they built a set-
tlement called Los Angeles. For many yéars it was a market town, where nearby farmers and ranchers met to trade.

Then in 1876 a railroad linked Los Angeles to San Francisco and, through San Francisco, to the rest of the country. &
The next year farmers sent their first trainload of oranges east. By 1885 a new railroad provided a direct route between Los é‘[
Angeles and Chicago.

Then in the 1890 s oil was discovered in the city. As derricks went up, workers built many highways and pipe lines.
Digging began on a harbor that would make Los Angeles not only an ocean port but also a fishing center. The harbor was
completed in 1914. That year the Panama Canal opened. Suddenly Los Angeles was the busiest port on the Pacific Coast.

Today the city is the main industrial center in the West. It produces goods not only for other West Coast communities
but also for those in other parts of the country. It leads the nation in making airplanes and equipment for exploring outer
space. Many motion pictures and television programs are filmed in Los Angeles. The city is also the business center for
states in the West. Improvements in transportation are the main reason for Los Angeles’ growth.

31. What is the main topic of the passage?
A) The Growth of Los Angeles. B) The Future of Los Angeles.
C) The Mexican Heritage of Los Angeles. D) The Film Industry in Los Angeles.
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32. What was the main commercial activity of Los Angeles during the years directly following its settlement according to the

passage?
A) Fruit growing. B) Oil drilling. C) Fishing. D) Trading.

33. According to the passage,in which year were oranges first shipped from Los Angeles to the East Coast by train?
A) 1781. B) 1876. C) 1877, D) 1890.

34. For which of the following reasons is San Francisco mentioned in the passage?
A) The settlers who founded Los Angeles came from San Francisco.
B) San Francisco linked Los Angeles with the rest of the country.
C) San Francisco was a market town where farmers came to trade.
D) 0il was discovered in San Francisco in the 1890 s. ‘
35. As it is used in the passage, the word “derricks” ( Paragraph 3) means
A) structure and equiprient for drilling oil,esp. in the seabed
B) holes drilled into the ground or seabed to obtain petroleum
C) frameworks over an oil well or borehole, to hold the drilling machinery,etc.
D) tools or machines with a detachable pointed end for making holes
Questions 36 to 40 are based on the following passage :

Inertia and gravity are two of the unique forces that make life as we know it possible on our planet earth. Much of what
is understood about inertia by contemporary scientists is based on Newton’ s Law of Inertia, which was proposed in the latter
part of the seventeenth century. This law states that an object in motion has a tendency to remain in motion with the same
velocity and in the same direction. The effects of inertia can be graphically illustrated in several peculiar ways, one of
which is caused by the tremendous force of the winds that accompany a tornado or hurricane. For example, straws have
been driven through planks of wood because of the inertia caused by these tornadic winds. As another example, a bullet ap-
pears to be a harmless piece of metal when it is examined but becomes a deadly missile when it is fired from a gun because
of its inertia at extremely high velocity.

Gravity is also an exceedingly important force in life on earth because without it inertia would cause everything to be_
propelled into space as the earth rotates. Gravity is.the force which pulls all objects toward the center of the earth. It also
has caused the earth to develop a rounded shape. If one supposes that the earth originally consisted of a mass of loose rocks
and that each other rock was attracting every other rock because of gravity, the rocks on higher places were pulled to lower
places. Even the niountains on our earth, which appear so high, are really insigni'ﬁcantly tall when one considers that the tal-
lest mountain is about five miles high, while the center of the earth is about 4,000 miles underground anywhere on the
earth’ s surface.

If one were to attempt to exist in a place having zero gravity, life would be significantly different than it is on earth.
For example, water could not run out of a faucet because no gravity would exist to pull it down. Even were it possible to fill
a glass with water under those conditions, it would be virtually impossible to drink it without gravity since the water would

splash up and outward and keep moving because of inertia.

36. The force of inertia is greatest in a car travelling at mph.

A) 60 B) 80 C) %0 D) 100
37. Because inertia and gravity are unique forces, they are

A) essentially the same force B) mostly the same force

C) essentially different force D) mostly not the same force

38. According to the passage, which of the following statements is NOT true?
A) Gravity causes tornadic winds. B) Gravity keeps water in a glass.
C) Gravity holds planets where they are. D) Gravity keeps mountains relatively low.
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